



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 1 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
1	14	GSB19	GLOBALIND	Break Area 18.5" x 28"h, Square Plate Base, Seated Height, Plate Base w/ 3" Dia x 27.5"h Column, Fully Assembled, 1/2" Ad TAG 1:: Break Area TAG 2:: Table Options: Base Finish {50}: ~SWB-SWAP Base Finish Base Finish {F2}: TBL-2-Black TBL Commercial GSA Offering: ~NGSA-Commercial Furniture Offering	2	461.84	923.68
2	14	GSBTP30	GLOBALIND	30"d x 30"w x 1"h, TFL, Flat Edge, Square, Top Only, 1 Base Required, Use w/ Either GRB22, GRB22H26, GRB22H35, TAG 1:: Break Area TAG 2:: Table Options: Laminate Top Type {30}: ~-(STD) Thermally Fused Laminate, High Performance (1" Thick) Laminate Top Finish {20}: ~SWT-SWAP Laminate Top Finish Laminate Top Finish {F1}: DWT-1-Designer White DWT Edge Type {45}: FE-F-2mm Flat Edge (Standard) Standard Edge Finish {46}: DWE-M-Designer White, Edge DWE Power Block Cut-Out Options - Center Position: ~-Power Block Cut-Out Not Required- Center Position Commercial GSA Offering: ~NGSA-Commercial Furniture Offering	2	143.98	287.96
Break Area							1,211.64
3	14	1011FT1.PS	SITONIT	Break Area Seating Lumin, Four-Leg Chair, Plastic Seat & Back, Armless TAG 1:: Break Area Seating TAG 2:: Seating Options: Frame Information: FC1-Black Frame Caster/Glide Option Selection: GL1-Standard Multi-Surface Glide Tablet Option Selection: ~-No Tablet Upgrade Plastic Shell Color Selection: SC1-Black CA Technical Bulletin 133 Fire Std Option for Plastic Selection: ~-No Selection Packaging Options: ~-Std Packaging	4	132.80	531.20
Break Area Seating							531.20
4	14	BLECFA	TEKNION	Conference Faceplate, Audio Video Interface TAG 1:: Conference TAG 2:: Power	1	188.43	188.43
5	14	BLELPS0442P072	TEKNION	Linear Power Module, Standard 18" - 4 Power/4 USB/2 Media, Plug-In, 72"l TAG 1:: Conference TAG 2:: Power Options: Door and Case Finish: ~MICA-Mica Colors for BLELP Mica Colors for BLELP: 60-Platinum (Satin) Frame Finish: ~MICA-Mica Colors for BLELP Mica Colors for BLELP: 60-Platinum (Satin)	2	268.95	537.90



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 2 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK
Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
6	14	BCMCRP42108SLS	TEKNION	Rect. Conf. Table - Panel Bases, 42"d x 108"w, Straight, Linear Power Module - Standard 18"(1-3/16") TAG 1:: Conference TAG 2:: Conference Table Options: Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: 7V-Basalt Walnut Edge Trim Style: 6-Straight Trim Edge Trim Finish: 9C-Basalt Walnut Base Infill Finish: ~S-Source Laminate Source Laminate: 87-Basalt Walnut Support Finish: ~MICA-Mica Colors Mica Colors: 60-Platinum (Satin) <div style="text-align: right;">Conference</div>	1	865.59	865.59
							1,591.92
7	14	1123.BK2.MB.Y.AR4	SITONIT	Seating Focus 2.0, Highback, Mesh Back, Enhanced Synchro Cntrl, Height Adjustable Arms TAG 1:: Seating TAG 2:: Task/Conference Seating Options: Focus Mesh Colors: MC1-Black Mesh Y-Support Colors: YCC01-Black Accent Color Selection: LA1-Onyx Frame Colors: FC1-Black Frame Base Style Selection: BT1-5-Star Base Base Selection: BC1-Black Nylon Base Caster Selecton: CS5-Carpet Casters Cylinder Height Option: CH1-Standard Cylinder Fabric or Leather Upholstery Selection: FABRIC-Fabric Grade Selections Fabric Grade Selections: FG2-Fabric Grade 2 Fabric Grade 2 Selection: ELEMENT-Element Standard Color Selection Element Color Selection: NAVY-Element Navy Packaging Options: KD-Knocked Down	26	346.00	8,996.00
8	14	5651B1.A130	SITONIT	Focus, Side Chair, Mesh Back, Black Frame, A130 Arm TAG 1:: Seating TAG 2:: Guest Seating Options: Mesh Back Colors: MC1-Black Mesh Fabric or Leather Upholstery Selection: FABRIC-Fabric Grade Selections CA Technical Bulletin 133 Fire Std Option for Fabric Selection: 133F-CAL TB 133 Upgrade (for 1-49 chair qty) Fabric Grade Selection: FG2-Fabric Grade 2 Fabric Grade 2 Selection: ELEMENT-Element Standard Color Selection Element Color Selection: NAVY-Element Navy Glide Option Selection: G5-Standard Multi-Surface Glide <div style="text-align: right;">Seating</div>	4	286.80	1,147.20
							10,143.20
				Lobby Seating			



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 3 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
9	14	5651B1.A130	SITONIT	Focus, Side Chair, Mesh Back, Black Frame, A130 Arm TAG 1:: Lobby Seating TAG 2:: Reception Seating Options: Mesh Back Colors: MC1-Black Mesh Fabric or Leather Upholstery Selection: FABRIC-Fabric Grade Selections CA Technical Bulletin 133 Fire Std Option for Fabric Selection: 133F-CAL TB 133 Upgrade (for 1-49 chair qty) Fabric Grade Selection: FG2-Fabric Grade 2 Fabric Grade 2 Selection: ELEMENT-Element Standard Color Selection Element Color Selection: NAVY-Element Navy Glide Option Selection: G5-Standard Multi-Surface Glide <div style="text-align: right;">Lobby Seating</div>	5	286.80	1,434.00
							1,434.00
10	14	SOKL02	TEKNION	Open Workstations Set of Keys Alike, 2 Sets of Cores TAG 1:: Open Workstations TAG 2:: Keys	16	0.00	0.00
11	14	RMDRLRM6072B	TEKNION	Spine Desk - Shared - Freestanding, Raised Mod, Middle Access Door, 60"d x 72"w TAG 1:: Open Workstations TAG 2:: Desk Options: Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: RV-Very White Edge Trim Style: 6-Straight Trim Edge Trim Finish: SS-Very White Full End Gable Finish: ~SrcLam-Source Laminate Source Laminate: XG-Very White Modesty Panel Finish: XG-Very White Worksurface Grommet/Access Door Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin)	5	902.88	4,514.40
12	14	RAGC	TEKNION	Rectangular Grommet TAG 1:: Open Workstations TAG 2:: Grommet Cover Options: Cover Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin)	16	9.57	153.12
13	14	RTLDC2442C	TEKNION	Rectangular Worksurface w/ Cross Grain, 24"d x 42"w - Center Grommet TAG 1:: Open Workstations TAG 2:: Desk Options: Support Style A (Left Side): L-Legs / Frame Leg / Semi-Supported Leg Support Style B (Right Side): F-Flush Plate Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: RV-Very White Edge Trim Style: 6-Straight Trim Edge Trim Finish: SS-Very White Grommet Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin)	5	143.55	717.75



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 4 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
14	14	RTLDC2442C	TEKNION	Rectangular Worksurface w/ Cross Grain, 24"d x 42"w - Center Grommet TAG 1:: Open Workstations TAG 2:: Desk Options: Support Style A (Left Side): F-Flush Plate Support Style B (Right Side): L-Legs / Frame Leg / Semi-Supported Leg Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: RV-Very White Edge Trim Style: 6-Straight Trim Edge Trim Finish: SS-Very White Grommet Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin)	11	143.55	1,579.05
15	14	RAVGL24	TEKNION	Semi-supported Leg - Solid, 24"d, Laminate TAG 1:: Open Workstations TAG 2:: Leg Support Options: Gable Finish: ~S-Source Laminate Source Laminate: XG-Very White	16	101.64	1,626.24
16	14	RPWT2272	TEKNION	Wall-Mounted Tackboard, 22"h x 72"w TAG 1:: Open Workstations TAG 2:: Mounted Tackboard Options: Finish: ~1-Fabric Grade 1 Fabric Grade 1: ~26-Emit Emit, Panel Fabric: T729-Joule	6	146.19	877.14
17	14	RCFBFD2272	TEKNION	Central Framed Screen for Spine Desk - Fabric, Spine Desk Mounted, 22"h x 72"w TAG 1:: Open Workstations TAG 2:: Screens Options: Frame Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin) Infill Finish: ~1-Fabric Grade 1 Fabric Grade 1: ~26-Emit Emit, Panel Fabric: T729-Joule	5	208.89	1,044.45
18	14	RLDBC8T72	TEKNION	Base Feed, Spine Desk, Centered Power Position, 8-Wire Isolated Ground, 72"w TAG 1:: Open Workstations TAG 2:: Power Options: Country of Installation: _-Special Code	4	126.39	505.56
19	14	RLDSS8T072	TEKNION	Power Harness Extension, Spine Desk, 8-Wire Isolated Ground, 72"Long TAG 1:: Open Workstations TAG 2:: Power Options: Country of Installation: A-Canada / U.S.A.	2	85.14	170.28
20	14	RLDUSD8T1515	TEKNION	Power Box For Spine Desk, Double-Sided, 8-Wire, Isolated Ground, Circuits 1&5 TAG 1:: Open Workstations TAG 2:: Power Options: Country of Installation: A-Canada / U.S.A.	3	114.18	342.54



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 5 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
21	14	RLDUSD8T2323	TEKNION	Power Box For Spine Desk, Double-Sided, 8-Wire, Isolated Ground, Circuits 2&3 TAG 1:: Open Workstations TAG 2:: Power Options: Country of Installation: A-Canada / U.S.A.	2	114.18	228.36
22	14	RLDUSS8T15	TEKNION	Power Box For Spine Desk, Single-Sided, 8-Wire, Isolated Ground, Circuits 1&5 TAG 1:: Open Workstations TAG 2:: Power Options: Country of Installation: A-Canada / U.S.A.	3	106.59	319.77
23	14	RLDUSS8T23	TEKNION	Power Box For Spine Desk, Single-Sided, 8-Wire, Isolated Ground, Circuits 2&3 TAG 1:: Open Workstations TAG 2:: Power Options: Country of Installation: A-Canada / U.S.A.	3	106.59	319.77
24	14	RLDCS8T075	TEKNION	Power Harness, Spine Desk, 8-Wire Isolated Ground, 75"Long TAG 1:: Open Workstations TAG 2:: Power Options: Country of Installation: A-Canada / U.S.A.	9	86.13	775.17
25	14	RLUDB	TEKNION	Communication Box TAG 1:: Open Workstations TAG 2:: Power	16	12.87	205.92
26	14	RMSRLWM3072B	TEKNION	Spine Desk - S-Sided - Freestanding, Wall Access Mod, Middle Access Door 30"d x 72"w TAG 1:: Open Workstations TAG 2:: Desk Options: Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: RV-Very White Edge Trim Style: 6-Straight Trim Edge Trim Finish: SS-Very White Full End Gable Finish: ~SrcLam-Source Laminate Source Laminate: XG-Very White Modesty Panel Finish: XG-Very White Worksurface Grommet/ Access Door Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin)	2	499.29	998.58
27	14	RPSLG510972R	TEKNION	1" Laminate Floor Screen With 9" Glass - Lateral Connection, Right, 51"h x 72"w TAG 1:: Open Workstations TAG 2:: Screens Options: Screen Finish: XG-Very White Frame Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin) Glass Finish: FT-Frosted Cable Pass-Through: N-None Hardware Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin)	3	376.86	1,130.58



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 6 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
28	14	RPSLG510972L	TEKNION	1" Laminate Floor Screen With 9" Glass - Lateral Connection, Left, 51"h x 72"w TAG 1:: Open Workstations TAG 2:: Screens Options: Screen Finish: XG-Very White Frame Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin) Glass Finish: FT-Frosted Cable Pass-Through: N-None Hardware Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin)	10	376.86	3,768.60
29	14	RPSLG510972R	TEKNION	1" Laminate Floor Screen With 9" Glass - Lateral Connection, Right, 51"h x 72"w TAG 1:: Open Workstations TAG 2:: Screens Options: Screen Finish: XG-Very White Frame Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin) Glass Finish: FT-Frosted Cable Pass-Through: E-End Pass-Through Hardware Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin)	9	376.86	3,391.74
30	14	RPSLG510972L	TEKNION	1" Laminate Floor Screen With 9" Glass - Lateral Connection, Left, 51"h x 72"w TAG 1:: Open Workstations TAG 2:: Screens Options: Screen Finish: XG-Very White Frame Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin) Glass Finish: FT-Frosted Cable Pass-Through: E-End Pass-Through Hardware Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin)	4	376.86	1,507.44
31	14	BASFCM18NA16	TEKNION	Seat Cushion - Fabric, Mobile Pedestal, Storage 18"d, No Reduction, 16"w TAG 1:: Open Workstations TAG 2:: Pedestal Cushion Options: Seat Upholstery Finish: ~F02-Fabric Grade 2 Seating Fabric Grade 2: ~04-Percept Percept, Seating Fabric: P112-Essence	16	106.92	1,710.72
32	14	BSPMSP1821A	TEKNION	Mobile Pedestal - Pulls, 18"d x 21"h, Box/File TAG 1:: Open Workstations TAG 2:: Box/Box/File Options: Drawer Front Finish: ~SRCLAM-Source Laminate Source Laminate: 87-Basalt Walnut Case Finish: ~Source-Source Laminate Source Laminate: 87-Basalt Walnut Pull Style: 9-Rectilinear	16	234.30	3,748.80



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 7 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
33	14	BSPSSP1828F	TEKNION	Pull Finish: ~MICA-Mica Colors Mica Colors: 60-Platinum (Satin) Key Style: K-Key Alike Pedestal - Pulls, 18"d x 28"h, File/File TAG 1:: Open Workstations TAG 2:: File/File Options: Drawer Front Finish: ~SRCLAM-Source Laminate Source Laminate: 87-Basalt Walnut Case Finish: ~Source-Source Laminate Source Laminate: 87-Basalt Walnut Pull Style: 9-Rectilinear Pull Finish: ~MICA-Mica Colors Mica Colors: 60-Platinum (Satin) Key Style: K-Key Alike <p style="text-align: right;">Open Workstations</p>	16	305.58	4,889.28
							34,525.26
34	14	SOKL04	TEKNION	Storage Set of Keys Alike, 4 Sets of Cores TAG 1:: Storage TAG 2:: Keys	1	0.00	0.00
35	14	RSRT1872	TEKNION	Top for Solid Storage Cabinet, 18"d x 72"w TAG 1:: Storage TAG 2:: Storage Top Options: Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: RV-Very White Edge Trim Style: 6-Straight Trim Edge Trim Finish: SS-Very White	2	225.39	450.78
36	14	BSLFSP183640	TEKNION	Lateral File - Pulls, 18"d x 36"w, Three Drawers (40") TAG 1:: Storage TAG 2:: Drawers Options: Drawer Front Finish: ~FNDLAM-Foundation Laminate except Abstract Foundation Laminate except Abstract: 7V-Basalt Walnut Case Finish: ~Source-Source Laminate Source Laminate: XG-Very White Pull Style: 9-Rectilinear Pull Finish: ~MICA-Mica Colors Mica Colors: 60-Platinum (Satin) Key Style: K-Key Alike <p style="text-align: right;">Storage</p>	4	663.30	2,653.20
							3,103.98
37	14	SOKL04	TEKNION	Private Offices Set of Keys Alike, 4 Sets of Cores TAG 1:: Private Offices TAG 2:: Keys	2	0.00	0.00
38	14	RAGC	TEKNION	Rectangular Grommet TAG 1:: Private Offices	4	9.57	38.28



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 8 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
39	14	REVGH63	TEKNION	TAG 2:: Grommet Cover Options: Cover Finish: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin) Worksurface Suspended Modesty Panel - Glass, 1/2 Height, 63"w	2	205.26	410.52
40	14	BOWFW5760	TEKNION	TAG 1:: Private Offices TAG 2:: Modesty Options: Frosted and Painted Glass: ~STD-Standard Glass Glass Finish: FT-Frosted Foundation and Mica Colors: ~MICA-Mica Colors Mica Colors: 7-Platinum (Satin) Wall-Mounted Tackboard - Fabric, From Standard Worksurface, 57"h, 60"w	2	89.10	178.20
41	14	BMRWL3072C	TEKNION	TAG 1:: Private Offices TAG 2:: Desk Options: Fabric Finish: ~1-Fabric Grade 1 Fabric Grade 1: ~26-Emit Emit, Panel Fabric: T729-Joule Rectangular Worksurface, 30"d x 72"w, Centered Grommet (1-3/16")	2	307.89	615.78
42	14	BMZUC11872GL	TEKNION	TAG 1:: Private Offices TAG 2:: Desk Options: Support Left Side: W-Frame Leg (Not Included) Support Right Side: E-Semi-Supported Leg (Not Included) Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: 7V-Basalt Walnut Edge Trim Style: 6-Straight Trim Edge Trim Finish: 9C-Basalt Walnut Grommet Finish: 87-Basalt Walnut Credenza w Sgle Combo Pedestal, Flush Full Mod., 18"d x 72"w, Rect. Grommet, Stor. Left (1-3/16")	1	794.64	794.64
				Options: Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: 7V-Basalt Walnut Edge Trim Style: 6-Straight Trim Edge Trim Finish: 9C-Basalt Walnut Drawer Front Finish: ~SRCLAM-Source Laminate Source Laminate: XG-Very White Case, Modesty Panel and Gable Finish: 87-Basalt Walnut Pull Style: 9-Rectilinear Hardware and Pull Finish: ~MICA-Mica Colors Mica Colors: 60-Platinum (Satin) Grommet Finish: ~RECT-Rectangular Grommet Grommet Finish: ~Mica-Mica Colors Mica Colors for Rectangular Grommet: 60-Platinum (Satin) Key Style: K-Key Alike			



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 9 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
43	14	BMZUC11872GR	TEKNION	Credenza w Sgle Combo Pedestal, Flush Full Mod., 18"d x 72"w, Rect. Grommet, Stor. Right (1-3/16") TAG 1:: Private Offices TAG 2:: Desk Options: Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: 7V-Basalt Walnut Edge Trim Style: 6-Straight Trim Edge Trim Finish: 9C-Basalt Walnut Drawer Front Finish: ~SRCLAM-Source Laminate Source Laminate: XG-Very White Case, Modesty Panel and Gable Finish: 87-Basalt Walnut Pull Style: 9-Rectilinear Hardware and Pull Finish: ~MICA-Mica Colors Mica Colors: 60-Platinum (Satin) Grommet Finish: ~RECT-Rectangular Grommet Grommet Finish: ~Mica-Mica Colors Mica Colors for Rectangular Grommet: 60-Platinum (Satin) Key Style: K-Key Alike	1	794.64	794.64
44	14	BOSHW166015L	TEKNION	Overhead Cabinet - Solid Hinged Doors, Wall-Mounted, 16"d x 60"w x 15"h, Linear LED Light Rdy TAG 1:: Private Offices TAG 2:: Overheads Options: Door Front Finish: ~SRCLAM-Source Laminate Source Laminate: XG-Very White Case Finish: ~Source-Source Laminate Source Laminate: 87-Basalt Walnut Key Style: K-Key Alike	2	400.95	801.90
45	14	BMSTR1824	TEKNION	Top for Solid Storage, 18"d x 24"w (1-3/16") TAG 1:: Private Offices TAG 2:: Storage Options: Finish: RV-Very White Edge Trim Style: 6-Straight Trim Edge Trim Finish: SS-Very White	2	100.32	200.64
46	14	BSLFSP182428	TEKNION	Lateral File - Pulls, 18"d x 24"w, Two Drawers (28") TAG 1:: Private Offices TAG 2:: Storage Options: Drawer Front Finish: ~SRCLAM-Source Laminate Source Laminate: XG-Very White Case Finish: ~Source-Source Laminate Source Laminate: 87-Basalt Walnut Pull Style: 9-Rectilinear Pull Finish: ~MICA-Mica Colors Mica Colors: 60-Platinum (Satin) Key Style: K-Key Alike	2	350.46	700.92
47	14	BLEDD48	TEKNION	Linear LED Light, 48"w TAG 1:: Private Offices TAG 2:: LED Light	2	150.81	301.62



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 10 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
				Options: Light Option: 0-Standard Mounting Option: S-Standard Optional Features: 0-Light Only Country of Installation: A-Canada / U.S.A. Finish: AC-Clear Anodized			
48	14	BLEDS480	TEKNION	Support for Linear LED Light - Overhead, Linear LED 48"w, Light Only TAG 1:: Private Offices TAG 2:: LED Light Options: Support Finish: ~MICA-Mica Colors Mica Colors: 60-Platinum (Satin)	2	32.67	65.34
49	14	BWGLMS30	TEKNION	Semi-Supported Leg - Solid, 29"h, 30"d (1-3/16") TAG 1:: Private Offices TAG 2:: Desk Options: Gable Finish: ~S-Source Laminate Source Laminate: 87-Basalt Walnut	2	94.05	188.10
50	14	BWWOS30	TEKNION	Frame Leg - Open, 29"h, 30"d TAG 1:: Private Offices TAG 2:: Desk Options: Frame Leg Finish: ~MICA-Mica Colors Mica Colors: 60-Platinum (Satin)	2	161.37	322.74
51	14	BMRB2442	TEKNION	Cross Grain Rectangular Bridge, 24"d x 42"w (1-3/16") TAG 1:: Private Offices TAG 2:: Desk Options: Worksurface Finish: ~A-Foundation Laminate Foundation Laminate: 7V-Basalt Walnut Edge Trim Style: 6-Straight Trim Edge Trim Finish: 9C-Basalt Walnut Grommet Finish: 87-Basalt Walnut	2	143.55	287.10
				Private Offices			5,700.42
53	14	DI-SUBC	CISERVICES	RECEIVE, DELIVER, AND INSTALL SUBC DELIVERY AND INSTALLATION DURING NORMAL BUSINESS TAG 1:: RECEIVE, DELIVER, AND INSTALL NOTE:: LABOR TO RECEIVE, DELIVER, AND INSTALL DURING NORMAL BUSINESS HOURS. CHANGE IN SCOPE, STAIR CARRY, AFTER HOURS, ADDITIONAL TRIPS, OR OTHER UNFORESEEN CONDITIONS ARE NOT INCLUDED.	1	7,628.21	7,628.21
				RECEIVE, DELIVER, AND INSTALL			7,628.21
54	14	COMMENT16	TBD	ALL OTHER STATE OF FLORIDA CONTRACT #56120000-24-ACS	0	0.00	0.00
55	14	COMMENT	TBD	PLEASE REMIT PAYMENT TO: CORPORATE INTERIORS, INC. 12115 28TH STREET N., ST. PETERSBURG, FL 33716	0	0.00	0.00



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 11 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms			
11/17/2025		ANDREA WELCH	D	NET 30 DAYS			
Line	Loc	Item Number	MFG	Description	Qty	Unit Price	Extended
56	14	COMMENT17		PAYMENT TERMS: 50% DEPOSIT REQUIRED FOR ORDER PLACEMENT,	0	0.00	0.00
57	14	COMMENT18		40% DUE UPON RECEIPT OF PRODUCT IN CI WAREHOUSE OR ON CLIENT'S JOB SITE, IN ORDER TO SCHEDULE INSTALLATION.	0	0.00	0.00
58	14	COMMENT19		10% INVOICED UPON SUBSTANTIAL COMPLETION, DUE NET 10	0	0.00	0.00
ALL OTHER							0.00
Subtotal							65,869.83
TOTAL AMOUNT -						USD	65,869.83



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
511 N FRANKLIN STREET
TAMPA, FL 33612
Phone: (813) 341-3413

Quotation

Page: 12 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK
Quote: Y1061.076
Status: New

Sold To: 178-00
CITY OF PINELLAS PARK
PO BOX 1100
PINELLAS PARK, FL 33780-1100
UNITED STATES

Bill To: 178-00
CITY OF PINELLAS PARK
PO BOX 1100
PINELLAS PARK, FL 33780-1100
UNITED STATES
Attention: Accounts Payable

Ship To: 178-14
CITY OF PINELLAS PARK
7900 49TH STREET NORTH
PINELLAS PARK, FL 33781
UNITED STATES

Table with 4 columns: Date Entered, Customer PO, Salesperson, FOB, Terms. Row 1: 11/17/2025, ANDREA WELCH, D, NET 30 DAYS

This Quote will expire on: December 02, 2025

TERMS AND CONDITIONS

TERMS AND CONDITIONS

- 1. This proposal is subject to change if not accepted within thirty days unless otherwise specified.
2. Accepted Quotes and subsequent Orders for the project are subject to the Terms and Conditions set forth herein.
3. By authorizing this Quote the Buyer agrees that all materials contemplated by this order as supported by plans and/or detailed Bill of Materials along with a schedule of finishes accurately represents the intent of the Buyer by entering into this contract.
4. Deposit and payment terms as set forth in the Quote and subsequent Orders for the project shall govern.
5. Orders may only be cancelled by the Buyer upon written consent of Corporate Interiors, Inc.
6. Sales tax for the jurisdiction in which the product is delivered will apply to all sales in that jurisdiction.
7. Every effort has been made to arrange a timely shipment within the indicated time frame.
8. In the occurrence of installation delay caused by Buyer, Buyer has 10 days from receipt of goods in CI warehouse to pay for inspection or Buyer will bear the risk of concealed damage costs which may include repair or replacement.
9. Quotes/Orders include storage of Buyers product in CI Warehouse for up to 30 calendar days.
10. Normal delivery hours between 8:00am and 4:00pm M-F shall apply unless specifically provided for in the Proposal.
11. Buyer will provide adequate area for off-loading and staging of product.
12. Job site delivery areas shall be free and clear of construction trades, to include installation of ceiling tiles, carpet, floor tiles and painting.
13. Downtime due to customer delays will be billed as a separate invoice.
14. Buyer shall be responsible for securing and safeguarding all materials staged, stored, and installed on site.
15. Unforeseen conditions resulting in excess product handling or staging apart from the initial scope of work will be billed as an extra charge.
16. Corporate Interiors, Inc. will be responsible to remove all debris including packaging materials, wrapping etc. from the job site daily or as agreed to by the Buyer.
17. Buyer is responsible for having electricity on at the time of installation, lighting, hoisting or elevator service without charge to the Corporate Interiors, Inc.
18. Corporate Interiors, Inc. shall be responsible for the installation of all electrical components contained in the Proposal/Order to the point of connection to the building power source which shall be the responsibility of the Buyer.
19. Corporate Interiors, Inc.'s labor and installation are covered under warranty for 1 year starting on the invoice date.
20. Change orders or additional work must be pre-approved.



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
511 N FRANKLIN STREET
TAMPA, FL 33612
Phone: (813) 341-3413

Quotation

Page: 13 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK
Quote: Y1061.076
Status: New

Sold To: 178-00
CITY OF PINELLAS PARK
PO BOX 1100
PINELLAS PARK, FL 33780-1100
UNITED STATES

Bill To: 178-00
CITY OF PINELLAS PARK
PO BOX 1100
PINELLAS PARK, FL 33780-1100
UNITED STATES
Attention: Accounts Payable

Ship To: 178-14
CITY OF PINELLAS PARK
7900 49TH STREET NORTH
PINELLAS PARK, FL 33781
UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

- 21. The terms of payment are cash, check or bank wire transfer. Separate rules apply to the use of Government Purchasing Cards.
- 22. All payments for this proposal will be remitted to our Synovus Bank accounts listed below. No changes to the payee or account number are allowed under any conditions.
 - For Corporate Interiors Inc. (St. Petersburg) ABA# 021052053 Account #XXXX5538.
 - For Corporate Interiors of Tampa Bay LLC. (Tampa) ABA# 021052053 Account #XXXX3558.
 - For Corporate Interiors Inc, CI South Florida (South Florida) ABA# 021052053 Account #XXXX9470.
 - For Corporate Interiors of Orlando, LLC. (Orlando) ABA# 021052053 Account #XXXX8842.
 - For Corporate Interiors Inc, CI Baton Rouge (CI Baton Rouge) ABA# 021052053 Account #XXXX2671.
 - For Corporate Interiors Inc, CI South Carolina (CI South Carolina) ABA# 021052053 Account #XXXX9536.
 - For Corporate Interiors Services, LLC (CI Services) ABA# 021052053 Account #XXXX8531.
- 23. Corporate Interiors, Inc., shall retain title to all goods listed in the Quote and subsequent Orders for the project until paid in full. In the event of default of payment, Corporate Interiors, Inc., is granted the right upon ten (10) days notice to enter the Buyer's premises and remove the furniture, materials, and/or property purchased without any liability to Corporate Interiors, Inc. In such an event, this remedy is non-exclusive, and Corporate Interiors, Inc., retains the right to sue for damages or seek other remedies against the Buyer for their default. Further, Buyer expressly authorizes Corporate Interiors, Inc., to file a UCC-1 Financing Statement or any other instruments to secure Corporate Interiors, Inc.'s interest in the materials, services, and obligations listed and identified in the Quote, Terms and Conditions, and any subsequent Orders for the project.
- 24. The Quote, Terms and Conditions, and any subsequent Orders for the project shall be construed in accordance with the laws of the state of Florida, without reference to its choice of law rules, and the Parties agree to submit to the exclusive jurisdiction of the state and/or federal courts located within Tampa, Florida, for the resolution of any dispute that may arise under the Quote, Terms and Conditions, and any subsequent Orders for the project.
- 25. The obligations set forth herein shall inure to the benefit of, and be binding upon, the assigns and successors in interest of the Parties.

Subtotal	65,869.83
Total	65,869.83

PRINT NAME

TITLE

SIGNATURE

DATE



CI GROUP

CORPORATE INTERIORS OF TAMPA BAY, LLC.
 511 N FRANKLIN STREET
 TAMPA, FL 33612
 Phone: (813) 341-3413

Quotation

Page: 14 of 14

Project: Y1061
Proj Desc: CITY OF PINELLAS PARK

Quote: Y1061.076
Status: New

Sold To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES

Bill To: 178-00
 CITY OF PINELLAS PARK
 PO BOX 1100
 PINELLAS PARK, FL 33780-1100
 UNITED STATES
 Attention: Accounts Payable

Ship To: 178-14
 CITY OF PINELLAS PARK
 7900 49TH STREET NORTH
 PINELLAS PARK, FL 33781
 UNITED STATES

Date Entered	Customer PO	Salesperson	FOB	Terms
11/17/2025		ANDREA WELCH	D	NET 30 DAYS

Summary:

TAG 1:	Extended Price	Tax	Total Amount
Break Area	1,211.64	0.00	1,211.64
Break Area Seating	531.20	0.00	531.20
Conference	1,591.92	0.00	1,591.92
Seating	10,143.20	0.00	10,143.20
Lobby Seating	1,434.00	0.00	1,434.00
Open Workstations	34,525.26	0.00	34,525.26
Storage	3,103.98	0.00	3,103.98
Private Offices	5,700.42	0.00	5,700.42
RECEIVE, DELIVER, AND INSTALL	7,628.21	0.00	7,628.21
ALL OTHER	0.00	0.00	0.00
Totals:	65,869.83	0.00	65,869.83